Efficiency vs hit

o 0.8
= o
2 07F
% o
9o o
$ 0.6F
8 E
= E
o 0.5
0.4F
0.3fF
0.2f
0.1F---+ P
o . : ) : .
o w0f : 1 :
I : I- :
DONEE St BEN & 0 R T TEE:
S s .,.»{ B U1 1 I
0O 5 10 15 20 25 30 35 40
TP hits
—=— DQM_TT__mKFIL_ORIG
—— DQM_TT__mkFit_MODIF
—— /data2/legianni/newRel-PR129/sta/CMSSW_13_2_0_pre3/src/DQM_TT__ORIGok
| Efficienc] —— /data2/legianni/newRel-PR129/sta/lCMSSW_13_2_0_pre3/src/DQM_TT__ORIG
<
CD
>
K]
w
>
>
Q
f=4
2
Q
=
()
ie]
[ RRETE) S 3 R 5 I R S A,
o
jI SEEERE S - . e
0 5 20 25
TP layers

5 6 7 8
TP pixel layers

Efficiency vs 3D layer
0.

0.18

D layers

& 0.16]
20.14
§0.12
0.1
0.08|
0.06|
0.04
0.02

ncy vs

effici

B

Ratio
N
T

14 16 18 20
TP 3D layers




	Contents
	Page 1


